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1) 3(x —5) +5x =8x — 15
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4) 42z — 3y) + 3(3z — 2y) = 17z — 18y
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(2a —5) —4(2a —3) = —2a — 3
(
5) 3(

202 —5r+1) —2(32* + 4z — 1) = —232 +5
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(6) =(15a — 20b) — ?(21@ +35b) = 6a — 8b — 15a — 25b = —9a — 33b
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1) 12ab? (—)— = 12X - x =— = —3b?
(1) 12ab* x b 2ab X s X E 3
3 1 4 3 3 9
(2) —1x2y— <—8.T) - <—3y> —1 X8X - = ——2a
4 2 6 4 7 6 4
) o2+ () x (5v) =gy pr =g
5 5 2 5
(4) —a®b* + Zb* = (—a) = - x - x —a® = —3a*
3 6 3 3
2\? 1 9 1
(5) 28a + (—3CL> X §Gb = 28 X 1 X §b =7b
1\ 3 2 2 1 2
(6) (—235) + (—Qxy) X (=27y°) = o x 27Ty* = =3
1 1 1 2pted
(7) Za2b x (—2bc)? = (—2ab02) =71 8 X 2 x aab(*g = 4ab’c

1 2
(8) —ay® + 27 = (—6xy) = —182%y
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(1) a+3+0 3—|—4

a(z —y)

(2) (r—y) +2xa=

3) (a+b) +§ - 3(“2”)

y(z +2)

(4) (x4+2)xy+3 =




